000000 (CO:0000) 20100 10 250
11. 000

od 11.1. a,bmn 000, m,n>1000.
(HDa=b(modmn) 000 a=b(modm)00 a=b(modn) 000O00O0DO0O.
(2)00 GCD(m,n)=100000000000000000.

(3) GCD(m,n) =1 000000 (1) 00000000000, a=b (mod m) O
O a=b(modn) 00000 a=b(modmn) 000000000D00O0O.

00 11.2. a,be,m 000, m>1000.
(1) a=b (mod m) = ca=cb (modm)000O.
(2)00 GCD(e,m)=100000000000000000.

00 11.3. byeem OO0, m>1000. 000 cx=b(modm) 0000000
r€7Z000000000000O0O0O0O GCD(¢e,m) |bODOOOOOOO.

ud 114. 1000000O000000000O0DOO 300O0oOoOoOo,0ooobono 3
00000000000, (000 12300000000,142+43=6060 30
00000,1230 3000000000000, O0O,9000000000000
gboboobgoobooo.

00 11.5. 00000,
(1)100*° 0 7000000,
(2)23° 0 5000000.

(3) 11042104304+ ...4+10° 0 NOODODOO.
(4) 1234° x 56789 0 5000000

ud 11.6. Jduooon 2 00000O0O.
(1) 7x = 4 (mod 19)

(2) 11z = 1 (mod 31)

(3) 172 = 2 (mod 23)

(4) 31z = 3 (mod 56)

(5) 43z = 10 (mod 221)
(6) 52z = 8 (mod 32)

(7) 2% + 22 = 12 (mod 13)
(8) 322 + 2z =1 (mod 12)

)
)
)
)
)
)
)
)



g 11.7. 000o0o00dg «.0000000O.

(2=2 (mod 3)

(1) ¢ =3 (mod 5)

| =2 (mod 7)

(2=1 (mod 3)

(2) =4 (mod 5)

| #=5 (mod 7)

(=1 (mod 3)

(3) ¢ =2 (mod 5)
| #=3 (mod 11)

(2=2 (mod 3)

(4) ¢ =3 (mod 5)
r=7 (mod 11)



